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; Progra
; Author
; Date:

m:  SHOWMEM
- Johan Kotze
2017/07/16

; Print the contents of memory four bytes at a tin
in the following fashion:

] ADDR:
] 1800

00 01 02 03]
CD 64 OB 21]

; The follwing keys are used:

Do+

|+] Pressing + displays the next 4 bytes

Do+

|-1 Pressing - displays the previous 4 bytes

Do+

; Cases not tested for are when the top or bottom

; Monito

initlcd
printtex

gotoxy

printhex
printcha
scan

main

Istart

linloop

r calls used:

0b64h
Occ8h

-equ
t .equ

-.equ Occ2h
Ocd4h

Occeh
05feh

.equ
r .equ
.equ

.org 1800h

call initlcd
Id h1,1800h

Id (addr),hl
Id hl,heading
call printtext

Id h,1

id 1,0

call gotoxy
Id hl, (addr)
Id a,h

push hl

call printhex
pop de

Id a,e

call printhex
Id b,4

idil,” *

call printchar
Id hl, (addr)
Id a, (hl)

call printhex
Id hl, (addr)
inc hl

;Clears and resets the LCD
;Prints text string pointed
;Last character =
;Position LCD cursor accordi
; H=
;Print contents of A-reg in
;:Print ASCII character in L-
;Scan keyboard until a key i
;Key Value is left in (IX)

00h

Row and L = Col

;Print the heading

;Place cursor on ste

:Print line label
:First the MSB

;Then the LSB

;Now print the conte
;starting at (addr)
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0061 1835 22 58 18 Id (addr),hl

0062 1838 10 EB djnz linloop

0063  183A getkey

0064 183A DD 21 6B 18 Id ix,buffer ;IX points at key buffer
0065 183E CD FE 05 call scan

0066 1841 ;1d hl,buffer

0067 1841 ;1d a, (buffer)

0068 1841 keyplus

0069 1841 FE 10 cp 10h ;was + pressed
0070 1843 CA OF 18 jp z,Istart ;display had already
0071 1846 FE 11 cp 11h ;was - pressed
0072 1848 20 FO Jjr nz,getkey

0073 184A 2A 58 18 Id hl, (addr) ;subtract 8 from (ac
0074 184D 06 08 Id b,8

0075 184F subloop

0076 184F 2B dec hl

0077 1850 10 FD djnz subloop

0078 1852 22 58 18 Id (addr),hl

0079 1855 C3 OF 18 jp Istart ;display new line
0080 1858

0081 1858 00 18 addr -.dw main

0082  185A 414444523A30heading .byte "ADDR:00 01 02 03',00h
0082 1860 3020303120303220303300

0083 186B 00 buffer _byte O
0084  186C 00 -byte O
0085 186D 00 .byte 0O
0086  186E 00 .byte 0O
0087  186F 00 .byte 0O
0088 1870 00 .byte 0O
0089 1871 .end

tasm: Number of errors = 0

Page 2 of 2



